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BT 4 HH 5 £ it
B] i3 3m] ;28 AT 298 366 401 767
AER1TH 1,045 1,193 1,309 2,502
EARI2TH 1,221 1,097 1,440 2,537
A R ET 2,265 2,335 2578 4913
BERT1TH 522 538 589 1,127
B EET2T H 411 427 474 901
B ERI3TH 309 348 334 682
BEBRT4TH 532 496 535 1,031
B EBRTSTH 841 929 936 1,865
I ER6TH 365 398 416 814
HiF = HT 542 623 652 1,275
45 KHT 456 532 554 1,086
HHT 1,006 1,138 1,275 2,413
BEHT 59 59 66 125
A K BT 629 734 748 1,482
7 HT 434 449 458 907
RICET 478 515 552 1,067
FORHET 200 205 227 432
RFHT 215 218 253 471
KHET 372 351 398 749
KET1TH 228 251 282 533
XKET3TH 285 337 319 656
XETATH 889 832 1,063 1,895
fit] LLI BT 2,329 2,760 2,867 5,627
JE LT 970 1,115 1,231 2,346
EHERT2TH 300 442 440 882
EHERISTH 426 536 548 1,084
EHERT4TH 361 434 474 908
EHERSTH 335 396 465 861
EHERT6TH 209 276 266 542
EHERT7TH 163 244 248 492
=Y:i 330 352 398 750
8 [ T 1,604 1,509 1,757 3,266
=i ET 506 542 627 1,169
2l 3t BT 475 617 577 1,194
N =15 96 116 122 238
+HEFRT A 643 650 716 1,366
L EFHTER 868 766 877 1,643
L HAHT 2,117 2,362 2,468 4,830
LFH¥ABT1TH 73 123 120 243
LH¥\ET2TH 156 160 179 339




BT 4 HH 5 £ i
LFEI3TH 149 149 174 323
L¥AET4 T B 157 167 201 368
LHABTS T B 210 271 293 564
I == HT 212 219 249 468
M=rET1TH 546 531 561 1,092
Mn=rET2TH 549 544 560 1,104
M=FET3TH 421 440 409 849
M=rET4T H 1,107 1,131 1,164 2,295
I S5k T 580 601 667 1,268
I=F5di) 235 221 268 489
At B BT 29 38 40 78
Jt ET 424 381 379 760
478 = HT 794 926 973 1,899
FHRHET 77 89 98 187
1 2 FF T 372 431 467 898
BEFE1TH 86 109 116 225
BEFE2TH 283 334 343 677
T EHT 130 150 149 299
/A BB T 3,069 3,171 3,380 6,551
1R HT 260 293 303 596
YEZF HT 743 758 798 1,556
EXBI1TH 271 244 287 531
=/ LLIHT 233 172 133 305
Hh ek HT 26 26 5 31
T A EHET 10 12 10 22
THHEE1TH 706 683 740 1,423
THHEE2TH 530 578 568 1,146
THHEESTH 764 774 905 1,679
TEHE1TH 193 194 189 383
TEHRI2TH 807 769 884 1,653
T¥HEI3TH 170 174 182 356
TEHRI4ATH 84 86 94 180
TEEI5TH 232 244 260 504
THAHET 670 701 751 1,452
THABRT1TH 351 361 364 725
THAERT2TH 452 452 474 926
TH¥BISTH 199 198 238 436
TET4TH 157 153 185 338
HTAEHET 25 24 9 33
T 191 191 196 387
#8)11 BT 44 47 55 102
KT HT 303 323 353 676

e K HT 1,693 1,752 1,907 3,659
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HEZ HH 5 £ i
FSIED 264 323 321 644
XLAT1TH 856 834 973 1,807
XLAT2T B 307 341 355 696
X#ILET3TH 149 161 168 329
1 [ BT 49 66 80 146
hHET1TH 362 387 417 804
hHET2TH 452 486 535 1,021
hHBEI3TH 433 516 529 1,045
niEld:) 252 245 284 529
th 2 JEHT 233 219 256 475
ch T 127 132 167 299
FRAHT 754 877 881 1,758
At A ET 885 923 1,055 1,978
75 K ERET 783 983 1,021 2,004
75 2 [N HET 1,669 1,873 1,994 3,867
A 805 784 899 1,683
SFHEAT1TH 533 470 542 1,012
SFHEAT2TH 399 397 449 846
$FHEAI3TH 206 228 234 462
| BT 427 484 514 998
YHET1T B 372 474 490 964
HET3T B 353 397 433 830
HET4A T B 117 113 141 254
J\ & T 989 1,093 1,143 2,236
J\HHT 169 218 219 437
+ A ERT 273 329 360 689
T A HT 2,230 2,315 2,448 4,763
THB1TH 24 21 21 42
T4HB2TH 1,452 1,386 1,382 2,768
T4HBI3TH 198 180 185 365
THHB4TH 374 313 382 695
T4HHB5TH 959 710 976 1,686
T4HBI6TH 220 239 267 506
THRI7TH 355 393 435 828
T4HBISTH 389 427 432 859
THBIOTH 387 461 514 975
T4WB13TH 305 355 393 748
AR NBHT 1,953 1,738 1,992 3,730
HARRHET 1,351 1,268 1,276 2,544
HEARK/ERET 284 376 390 766
HEARICEHT 162 172 180 352
o NEL) 132 123 137 260
Z AR hHET 201 230 262 492
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HEZ HH 5 = 5
FHARAKHET 433 458 493 951
H AR EHT 320 352 388 740
EHARE)IIET 287 280 304 584
e N=TN ] 110 121 135 256
FH AR JTHT 99 94 114 208
EARERHE 668 579 666 1,245
B K BRHET 390 408 410 818
Edsa] 891 915 1,031 1,946
BEFET1TH 771 758 768 1,526
BEFET2 T H 592 604 683 1,287
BRFEIST H 351 420 417 837
AIFFRT1T B 425 386 437 823
AIFTET2T B 593 604 672 1,276
AIFTET3T B 597 704 743 1,447
A HT 187 215 199 414
H_LH 212 276 298 574
NEL] 813 812 882 1,694
ERL 713 901 913 1,814
= HHE 1,736 1,965 2,065 4,030
HEXHRET1TH 569 650 667 1,317
HETIRET2TH 522 624 654 1,278
HLAREISTH 295 378 377 755
P fx T 320 381 410 791
mLERI1TH 1,164 1,136 1,304 2,440
mERI2TH 840 969 1,078 2,047
FA T 1,329 1,391 1,580 2,971
= RITET 527 519 559 1,078
= AHT 346 282 352 634
AR#HT 10 9 4 13
=) 497 579 527 1,106
SHA1TH 702 642 795 1,437
S HHET2TH 396 435 460 895
aHEI3TH 857 767 932 1,699
S HET4TH 780 664 879 1,543
E& T 1 1 0 1
J\BRET1TH 212 274 270 544
J\BRET2T B 219 234 232 466
J\BRET3T H 237 294 299 593
1T HT 292 436 427 863
FHEIBRT1 TH 137 163 172 335
FHaEIRT2TH 297 429 457 886
FIaTET3T B 11 25 15 40
ENOER1TH 2 3 3 6
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HEZ HH 5 £ it
FEOER2TH 0 0 0 0
EOER3TH 20 19 1 20

HWEEt 88,071 93,099 | 100,824 | 193,923

5.5



